BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LIA JOB NO.

CONSTRUCTION OF THE WATER, SANITARY SEWER AND DRAINAGE FACILITIES AND
PAVING AND APPURTENANCES TO SERVE NORTH DIAMONDHEAD BOULEVARD PHASE 2 AND NEWPORT POINTE SECTION 6
NEWPORT MUNICIPAL UTILITY DISTRICT
CITY OF HOUSTON, HARRIS COUNTY, TEXAS
OCTOBER 21, 2025
LIA ENGINEERING, INC.
ERICA PENA
OCTOBER 21, 2025
2370-4106 & 2370-4106P (9.2)

BIDDER NAME	BASE BID	ALTERNATE NO. 1 - PAVING ITEMS PLUS BASE BID	PROPOSED DURATION (DAYS)
1) CROSTEX CONSTRUCTION INC.	\$878,000.00	\$2,876,000.00	25 \ 35
2) FELLERS AND CLARK LP	\$947,500.00	\$2,970,000.00	20\25
3) R CONSTRUCTION CIVIL, LLC	\$1,128,901.00	\$3,136,222.00	75 \ 90
4) DACO PAVING, INC.	\$1,157,000.00	\$2,989,000.00	25 \ 30

I, Robert Booth, P.E., hereby certify these bid tabulations to be true and correct.

ROBERT T. BOOTH

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF THE WATER, SANITARY SEWER AND DRAINAGE FACILITIES AND PAVING AND APPURTENANCES TO SERVE NORTH DIAMONDHEAD BOULEVARD PHASE 2 AND NEWPORT POINTE SECTION 6 NEWPORT MUNICIPAL UTILITY DISTRICT CITY OF HOUSTON, HARRIS COUNTY, TEXAS

OCTOBER 21, 2025 LJA ENGINEERING, INC. ERICA PENA OCTOBER 21, 2025

2370-4106 & 2370-4106P (9.2)

				1) CROSTEX CONS	STRUCTION INC.	2) FELLERS AI	ND CLARK LP	3) R CONSTRUCTION CIVIL, LLC		4) DACO PAVING, INC.	
NO	ATEM DESCRIPTION	LIAUT	OTV.	LINIT COST	TOTAL	UNIT COST	TOTAL	LINUT COST	TOTAL		TOTAL
NO.	ITEM DESCRIPTION D NEWPORT POINTE SECTION 6 WATER SYSTEM ITEMS	UNIT	QTY	UNIT COST	TOTAL	UNITCOST	IUIAL	UNIT COST	TOTAL	UNIT COST	TOTAL
	8" PVC WATER LINE, C-900, DR 18, CLASS 235, INCLUDES FITTINGS, BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	1688	\$31.00	\$52,328.00	\$36.80	\$62,118.40	\$36.00	\$60,768.00	\$41.00	\$69,208.00
2	8" PVC RESTRAINED JOINT WATER LINE, C-900, DR 14, CLASS 305, INCLUDES RESTRAINED JOINT FITTINGS, BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	225	\$51.00	\$11,475.00	\$39.85	\$8,966.25	\$45.00	\$10,125.00	\$65.00	\$14,625.00
3	8" AWWA GATE VALVE & BOX, COMPLETE IN PLACE	EA	4	\$3,500.00	\$14,000.00	\$2,191.40	\$8,765.60	\$2,300.00	\$9,200.00	\$1,850.00	\$7,400.00
4	FLUSHING VALVE UNIT, INCLUDES APPROPRIATE TEE, FITTINGS, 6" GATE VALVE & BOX, AND LEAD PIPE, ALL DEPTHS, COMPLETE IN PLACE	EA	4	\$7,800.00	\$31,200.00	\$6,101.80	\$24,407.20	\$7,100.00	\$28,400.00	\$5,800.00	\$23,200.00
5	WET CONNECTION OF PROPOSED 8" WATER LINE TO EXISTING WATER LINE, INCLUDES INSTALLING 8" X 12" CROSS ON EXISTING WATER LINE, REMOVAL, REPLACEMENT, AND OFFSITE DISPOSAL OF EXISTING WATER LINE AND TEE, ALL FITTINGS, ADAPTERS, AND CONNECTORS NECESSARY, ALL DEPTHS, COMPLETE IN PLACE	EA	2	\$1,700.00	\$3,400.00	\$176.25	\$352.50	\$360.00	\$720.00	\$1,035.00	\$2,070.00
6	TRENCH SAFETY SYSTEM FOR WATER LINE, ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	LF	1913	\$0.01	\$19.13	\$0.10	\$191.30	\$1.00	\$1,913.00	\$0.05	\$95.65
7	DEWATERING FOR WATER LINE, (AS DIRECTED BY ENGINEER), ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	LF	1913	\$0.01	\$19.13	\$0.01	\$19.13	\$23.00	\$43,999.00	\$1.03	\$1,970.39
SUBTO	AL BASE BID NEWPORT POINTE SECTION 6 WATER SYSTEM ITEMS				\$112,441.26		\$104,820.38		\$155,125.00		\$118,569.04
	D NEWPORT POINTE SECTION 6 SANITARY SEWER ITEMS 8" PVC SEWER PIPE, ASTM D-3034, SDR 26, 8' - 12' CUT, INCLUDES BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	989	\$35.00	\$34,615.00	\$51.50	\$50,933.50	\$38.00	\$37,582.00	\$51.50	\$50,933.50
2	8" PVC SEWER PIPE, ASTM D-3034, SDR 35, 12' - 16' CUT, INCLUDES BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	276	\$40.00	\$11,040.00	\$51.50	\$14,214.00	\$66.00	\$18,216.00	\$56.50	\$15,594.00
3	SHORT SIDE DOUBLE OR SINGLE 6" PVC PIPE SERVICE LEAD, ASTM D-2241, SDR 26, INCLUDES PIPE, TIE INTO EXISTING SANITARY SEWER, CEMENT STABILIZED SAND BACKFILL, DROP STRUCTURE, STACK, RISER, WYE, PLUG, MARKER, AND ANY NECESSARY FITTINGS, ALL DEPTHS, COMPLETE IN PLACE	EA	2	\$1,400.00	\$2,800.00	\$2,094.05	\$4,188.10	\$1,400.00	\$2,800.00	\$1,758.00	\$3,516.00
4	SHORT SIDE SINGLE 6" PVC PIPE SERVICE LEAD, ASTM D-2241, SDR 26, INCLUDES PIPE, CEMENT STABILIZED SAND BACKFILL, DROP STRUCTURE, STACK, RISER, WYE, PLUG, MARKER, AND ANY NECESSARY FITTINGS, ALL DEPTHS, COMPLETE IN PLACE	EA	8	\$1,300.00	\$10,400.00	\$1,447.80	\$11,582.40	\$1,400.00	\$11,200.00	\$1,758.00	\$14,064.00
5	LONG SIDE DOUBLE OR SINGLE 6" PVC PIPE SERVICE LEAD, ASTM D-2241, SDR 26, INCLUDES PIPE, TIE INTO EXISTING SANITARY SEWER, CEMENT STABILIZED SAND BACKFILL, DROP STRUCTURE, STACK, RISER, WYE, PLUG, MARKER, AND ANY NECESSARY FITTINGS, ALL DEPTHS, COMPLETE IN PLACE	LF	151	\$44.00	\$6,644.00	\$57.95	\$8,750.45	\$45.00	\$6,795.00	\$75.00	\$11,325.00
6	LONG SIDE DOUBLE OR SINGLE 6" PVC PIPE SERVICE LEAD, ASTM D-2241, SDR 26, INCLUDES PIPE, CEMENT STABILIZED SAND BACKFILL, DROP STRUCTURE, STACK, RISER, WYE, PLUG, MARKER, AND ANY NECESSARY FITTINGS, ALL DEPTHS, COMPLETE IN PLACE	LF	1024	\$41.00	\$41,984.00	\$49.40	\$50,585.60	\$48.00	\$49,152.00	\$79.00	\$80,896.00
7	STANDARD 4' DIAMETER PRECAST SANITARY SEWER MANHOLE, (0' - 8' DEPTH), INCLUDES ADJUSTMENTS, COMPLETE IN PLACE	EA	8	\$2,700.00	\$21,600.00	\$2,632.00	\$21,056.00	\$2,500.00	\$20,000.00	\$2,680.00	\$21,440.00 FRN F-13

FRN F-1386 LJA Engineering, Inc.

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF THE WATER, SANITARY SEWER AND DRAINAGE FACILITIES AND
PAVING AND APPURTENANCES TO SERVE NORTH DIAMONDHEAD BOULEVARD PHASE 2 AND NEWPORT POINTE SECTION 6
NEWPORT MUNICIPAL UTILITY DISTRICT
CITY OF HOUSTON, HARRIS COUNTY, TEXAS
OCTOBER 21, 2025

OCTOBER 21, 2025 LIA ENGINEERING, INC. ERICA PENA OCTOBER 21, 2025 2370-4106 & 2370-4106P (9.2)

			1) CROSTEX CONSTRUCTION INC.		2) FELLERS AND CLARK LP		3) R CONSTRUCTION CIVIL, LLC		4) DACO PAVING, INC.	
NO. ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
8. EXTRA VERTICAL DEPTH FOR 4' DIAMETER SANITARY SEWER MANHOLE (OVER 8' DEPTH), COMPLETE IN PLACE	VF	34	\$270.00	\$9,180.00	\$135.15	\$4,595.10	\$180.00	\$6,120.00	\$205.00	\$6,970.00
 CORE INTO EXISTING SANITARY SEWER MANHOLE AND CONNECT PROPOSED 8" SANITARY SEWER LINE, ALL DEPTHS, COMPLETE IN PLACE 	EA	2	\$2,000.00	\$4,000.00	\$2,173.75	\$4,347.50	\$1,500.00	\$3,000.00	\$1,100.00	\$2,200.00
10. VIDEO INSPECTION OF SANITARY SEWER, ALL SIZES, INCLUDES DIGITAL COPY, COMPLETE IN PLACE	LF	1265	\$0.01	\$12.65	\$1.75	\$2,213.75	\$2.00	\$2,530.00	\$2.00	\$2,530.00
11. TRENCH SAFETY SYSTEM FOR SANITARY SEWER, ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	LF	1265	\$0.01	\$12.65	\$0.10	\$126.50	\$1.00	\$1,265.00	\$0.05	\$63.25
12. DEWATERING FOR SANITARY SEWER, (AS DIRECTED BY ENGINEER), ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	LF	1265	\$10.00	\$12,650.00	\$0.01	\$12.65	\$23.00	\$29,095.00	\$25.00	\$31,625.00
13. ADDITIONAL COST FOR SANITARY SEWER BEDDING FOR UNSATISFACTORY SOIL CONDITIONS (AS DIRECTED BY ENGINEER), COMPLETE IN PLACE	LF	1265	\$0.01	\$12.65	\$0.01	\$12.65	\$10.00	\$12,650.00	\$15.00	\$18,975.00
SUBTOTAL BASE BID NEWPORT POINTE SECTION 6 SANITARY SEWER ITEMS				\$154,950.95	_	\$172,618.20	_	\$200,405.00		\$260,131.75
BASE BID NEWPORT POINTE SECTION 6 DRAINAGE FACILITIES ITEMS 1. 24" RCP STORM SEWER, ASTM C-76, CLASS III, INCLUDES BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	1051	\$78.00	\$81,978.00	\$89.00	\$93,539.00	\$92.00	\$96,692.00	\$97.00	\$101,947.00
2. 30" RCP STORM SEWER, ASTM C-76, CLASS III, INCLUDES BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	334	\$98.00	\$32,732.00	\$103.75	\$34,652.50	\$122.00	\$40,748.00	\$114.00	\$38,076.00
REINFORCED CONCRETE TYPE "C" MANHOLE FOR 42" STORM SEWER AND SMALLER, INCLUDES ADJUSTMENTS, ALL DEPTHS, COMPLETE IN PLACE	LF EA	147	\$212.00 \$3,900.00	\$31,164.00 \$42,900.00	\$205.25 \$2,350.00	\$30,171.75 \$25,850.00	\$255.00 \$2,800.00	\$37,485.00 \$30,800.00	\$256.00 \$3,310.00	\$37,632.00 \$36,410.00
 STAGE I - REINFORCED CONCRETE "B-B" INLET, (5' OPENING), INCLUDES INLET PROTECTION BARRIER FOR STAGE I INLET, ALL DEPTHS, COMPLETE IN PLACE 	EA	14	\$2,500.00	\$35,000.00	\$1,098.65	\$15,381.10	\$1,300.00	\$18,200.00	\$1,450.00	\$20,300.00
 STAGE I - REINFORCED CONCRETE "B-B" INLET, (5\ OPENING), INCLUDES INLET PROTECTION BARRIER FOR STAGE I INLET, ALL DEPTHS, COMPLETE IN PLACE 	EA	14	\$1,200.00	\$16,800.00	\$2,655.50	\$37,177.00	\$3,300.00	\$46,200.00	\$2,375.00	\$33,250.00
 BREAK INTO EXISTING STORM SEWER MANHOLE AND CONNECT PROPOSED 24" STORM SEWER, INCLUDES APPURTENANCES, ALL DEPTHS, COMPLETE IN PLACE 	EA	3	\$500.00	\$1,500.00	\$2,173.75	\$6,521.25	\$650.00	\$1,950.00	\$260.00	\$780.00
 BREAK INTO EXISTING STORM SEWER MANHOLE AND CONNECT PROPOSED 30" STORM SEWER, INCLUDES APPURTENANCES, ALL DEPTHS, COMPLETE IN PLACE 	EA	1	\$500.00	\$500.00	\$2,702.50	\$2,702.50	\$650.00	\$650.00	\$260.00	\$260.00
 BREAK INTO EXISTING STORM SEWER MANHOLE AND CONNECT PROPOSED 48" STORM SEWER, INCLUDES APPURTENANCES, ALL DEPTHS, COMPLETE IN PLACE 	EA	1	\$500.00	\$500.00	\$3,348.75	\$3,348.75	\$650.00	\$650.00	\$515.00	\$515.00
10. REMOVE EXISTING REINFORCED CONCRETE TYPE "E" INLET TOP AND REPLACE WITH TYPE "C" STORM MANHOLE TOP, FOR 42" STORM SEWER AND SMALLER, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$2,000.00	\$2,000.00	\$1,521.65	\$1,521.65	\$2,900.00	\$2,900.00	\$2,585.00	\$2,585.00

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF THE WATER, SANITARY SEWER AND DRAINAGE FACILITIES AND
PAVING AND APPURTENANCES TO SERVE NORTH DIAMONDHEAD BOULEVARD PHASE 2 AND NEWPORT POINTE SECTION 6
NEWPORT MUNICIPAL UTILITY DISTRICT
CITY OF HOUSTON, HARRIS COUNTY, TEXAS

OCTOBER 21, 2025 LJA ENGINEERING, INC. ERICA PENA

OCTOBER 21, 2025

2370-4106 & 2370-4106P (9.2)

			1) CROSTEX CONSTRUCTION INC.		2) FELLERS AND CLARK LP		3) R CONSTRUCTION CIVIL, LLC		4) DACO PAVING, INC.	
NO. ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
11. REMOVE EXISTING REINFORCED CONCRETE TYPE "E" INLET TOP AND REPLACE WITH TYPE "C" STORM MANHOLE TOP, FOR 48" STORM SEWER AND LARGER, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$2,000.00	\$2,000.00	\$1,521.65	\$1,521.65	\$3,800.00	\$3,800.00	\$2,585.00	\$2,585.00
12. 5" REINFORCED CONCRETE SLOPE PAVEMENT WITH TOE WALLS ALL AROUND FOR EXTREME EVENT OVERFLOW SWALE, COMPLETE IN PLACE	SY	41	\$125.00	\$5,125.00	\$146.90	\$6,022.90	\$125.00	\$5,125.00	\$155.00	\$6,355.00
13. VIDEO INSPECTION OF STORM SEWER, ALL SIZES, INCLUDES DIGITAL COPY, COMPLETE IN PLACE	LF	1583	\$0.01	\$15.83	\$1.75	\$2,770.25	\$3.00	\$4,749.00	\$3.00	\$4,749.00
14. TRENCH SAFETY SYSTEM FOR STORM SEWER, ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	LF	1583	\$0.01	\$15.83	\$0.10	\$158.30	\$1.00	\$1,583.00	\$0.05	\$79.15
15. DEWATERING FOR STORM SEWER, (AS DIRECTED BY ENGINEER), ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	LF	1583	\$10.00	\$15,830.00	\$0.01	\$15.83	\$23.00	\$36,409.00	\$5.00	\$7,915.00
 ADDITIONAL COST FOR STORM SEWER BEDDING FOR UNSATISFACTORY SOIL CONDITIONS (AS DIRECTED BY ENGINEER), COMPLETE IN PLACE 	LF	1583	\$0.01	\$15.83	\$0.01	\$15.83	\$10.00	\$15,830.00	\$1.00	\$1,583.00
SUBTOTAL BASE BID NEWPORT POINTE SECTION 6 DRAINAGE FACILITIES ITEMS				\$268,076.49	_	\$261,370.26	_	\$343,771.00		\$295,021.15
BASE BID NORTH DIAMONDHEAD BOULEVARD PHASE 2 WATER SYSTEM ITEMS 1. 8" PVC WATER LINE, C-900, DR 14, CLASS 305, INCLUDES FITTINGS, BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	140	\$57.00	\$7,980.00	\$36.80	\$5,152.00	\$43.00	\$6,020.00	\$47.00	\$6,580.00
12" PVC WATER LINE, C-900, DR 18, CLASS 235, INCLUDES FITTINGS, BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	147	\$55.00	\$8,085.00	\$98.95	\$14,545.65	\$75.00	\$11,025.00	\$63.00	\$9,261.00
 12" PVC RESTRAINED JOINT WATER LINE, C-900, DR 14, CLASS 305, INCLUDES RESTRAINED JOINT FITTINGS, BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE 	LF	324	\$102.00	\$33,048.00	\$102.00	\$33,048.00	\$73.00	\$23,652.00	\$104.00	\$33,696.00
4. 12" AWWA GATE VALVE & BOX, COMPLETE IN PLACE	EA	1	\$5,200.00	\$5,200.00	\$4,136.00	\$4,136.00	\$4,200.00	\$4,200.00	\$3,620.00	\$3,620.00
5. FLUSHING VALVE UNIT, INCLUDES APPROPRIATE TEE, FITTINGS, 6" GATE VALVE & BOX, AND LEAD PIPE, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$8,300.00	\$8,300.00	\$6,101.80	\$6,101.80	\$7,200.00	\$7,200.00	\$5,720.00	\$5,720.00
6. WET CONNECTION OF PROPOSED 12" WATER LINE TO EXISTING WATER LINE, INCLUDES FITTINGS, ALL ADAPTERS AND CONNECTORS NECESSARY, AND REMOVAL OF EXISTING PLUG & CLAMP AND 2" BLOW-OFF VALVE & BOX, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$1,000.00	\$1,000.00	\$176.25	\$176.25	\$600.00	\$600.00	\$1,035.00	\$1,035.00
7. TRENCH SAFETY SYSTEM FOR WATER LINE, ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	LF	611	\$0.01	\$6.11	\$0.10	\$61.10	\$1.00	\$611.00	\$0.02	\$12.22
8. DEWATERING FOR WATER LINE, (AS DIRECTED BY ENGINEER), ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	LF	611	\$0.01	\$6.11	\$0.01	\$6.11	\$23.00	\$14,053.00	\$1.00	\$611.00
SUBTOTAL BASE BID NORTH DIAMONDHEAD BOULEVARD PHASE 2 WATER SYSTEM IT	JBTOTAL BASE BID NORTH DIAMONDHEAD BOULEVARD PHASE 2 WATER SYSTEM ITEMS				_	\$63,226.91	_	\$67,361.00		\$60,535.22
BASE BID NORTH DIAMONDHEAD BOULEVARD PHASE 2 SANITARY SEWER ITEMS 1. 8" PVC SEWER PIPE, ASTM D-2241, SDR 26, 16' - 20' CUT, INCLUDES BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	517	\$50.00	\$25,850.00	\$51.55	\$26,651.35	\$57.00	\$29,469.00	\$72.40	\$37,430.80
 STANDARD 4' DIAMETER PRECAST SANITARY SEWER MANHOLE, (0' - 8' DEPTH), INCLUDES ADJUSTMENTS, COMPLETE IN PLACE 	EA	2	\$2,700.00	\$5,400.00	\$2,632.00	\$5,264.00	\$2,700.00	\$5,400.00	\$2,688.00	\$5,376.00

FRN F-1386

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF THE WATER, SANITARY SEWER AND DRAINAGE FACILITIES AND PAVING AND APPURTENANCES TO SERVE NORTH DIAMONDHEAD BOULEVARD PHASE 2 AND NEWPORT POINTE SECTION 6 NEWPORT MUNICIPAL UTILITY DISTRICT CITY OF HOUSTON, HARRIS COUNTY, TEXAS

OCTOBER 21, 2025 LIA ENGINEERING, INC. ERICA PENA OCTOBER 21, 2025 2370-4106 & 2370-4106P (9.2)

				1) CROSTEX CONS	STRUCTION INC.	2) FELLERS A	ND CLARK LP	3) R CONSTRUCT	3) R CONSTRUCTION CIVIL, LLC		4) DACO PAVING, INC.	
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL	
	EXTRA VERTICAL DEPTH FOR 4' DIAMETER SANITARY SEWER MANHOLE (OVER 8' DEPTH), COMPLETE IN PLACE	VF	20	\$270.00	\$5,400.00	\$135.15	\$2,703.00	\$175.00	\$3,500.00	\$206.00	\$4,120.00	
	RIM ADJUSTMENT TO EXISTING SANITARY SEWER MANHOLE, COMPLETE IN PLACE	EA	2	\$200.00	\$400.00	\$587.50	\$1,175.00	\$500.00	\$1,000.00	\$517.00	\$1,034.00	
	REMOVE AND OFFSITE DISPOSAL OF EXISTING 8" PLUG AND CONNECT PROPOSED 8" SANITARY SEWER, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$1,500.00	\$1,500.00	\$411.25	\$411.25	\$150.00	\$150.00	\$1,035.00	\$1,035.00	
	VIDEO INSPECTION OF SANITARY SEWER, ALL SIZES, INCLUDES DIGITAL COPY, COMPLETE IN PLACE	LF	517	\$0.01	\$5.17	\$1.75	\$904.75	\$2.00	\$1,034.00	\$2.00	\$1,034.00	
	TRENCH SAFETY SYSTEM FOR SANITARY SEWER, ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	LF	517	\$0.01	\$5.17	\$0.10	\$51.70	\$1.00	\$517.00	\$0.05	\$25.85	
	DEWATERING FOR SANITARY SEWER, (AS DIRECTED BY ENGINEER), ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	LF	517	\$10.00	\$5,170.00	\$20.00	\$10,340.00	\$23.00	\$11,891.00	\$25.00	\$12,925.00	
	ADDITIONAL COST FOR SANITARY SEWER BEDDING FOR UNSATISFACTORY SOIL CONDITIONS (AS DIRECTED BY ENGINEER), COMPLETE IN PLACE	LF	517	\$0.01	\$5.17	\$0.01	\$5.17	\$10.00	\$5,170.00	\$15.00	\$7,755.00	
SUBTOTA	AL BASE BID NORTH DIAMONDHEAD BOULEVARD PHASE 2 SANITARY SEWER	ITEMS			\$43,735.51	_	\$47,506.22	_	\$58,131.00	_	\$70,735.65	
1.	NORTH DIAMONDHEAD BOULEVARD PHASE 2 DRAINAGE FACILITIES ITEMS 24" RCP STORM SEWER, ASTM C-76, CLASS III, INCLUDES BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	475	\$78.00	\$37,050.00	\$88.55	\$42,061.25	\$85.00	\$40,375.00	\$98.00	\$46,550.00	
	30" RCP STORM SEWER, ASTM C-76, CLASS III, INCLUDES BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	200	\$98.00	\$19,600.00	\$103.50	\$20,700.00	\$115.00	\$23,000.00	\$116.00	\$23,200.00	
	36" RCP STORM SEWER, ASTM C-76, CLASS III, INCLUDES BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	93	\$134.00	\$12,462.00	\$136.90	\$12,731.70	\$165.00	\$15,345.00	\$163.00	\$15,159.00	
	REINFORCED CONCRETE TYPE "C" MANHOLE FOR 42" STORM SEWER AND SMALLER, INCLUDES ADJUSTMENTS, ALL DEPTHS, COMPLETE IN PLACE.	EA	3	\$3,900.00	\$11,700.00	\$2,350.00	\$7,050.00	\$2,800.00	\$8,400.00	\$4,100.00	\$12,300.00	
	REINFORCED CONCRETE TYPE "C" MANHOLE FOR 48" STORM SEWER AND LARGER, INCLUDES ADJUSTMENTS, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$5,300.00	\$5,300.00	\$3,320.55	\$3,320.55	\$5,800.00	\$5,800.00	\$6,300.00	\$6,300.00	
	RIM ADJUSTMENT TO EXISTING STORM SEWER MANHOLE, COMPLETE IN PLACE	EA	3	\$200.00	\$600.00	\$587.50	\$1,762.50	\$500.00	\$1,500.00	\$517.00	\$1,551.00	
	STAGE I - REINFORCED CONCRETE "B-B" INLET, (5' OPENING), INCLUDES INLET PROTECTION BARRIER FOR STAGE I INLET, ALL DEPTHS, COMPLETE IN PLACE	EA	2	\$2,500.00	\$5,000.00	\$1,098.65	\$2,197.30	\$1,300.00	\$2,600.00	\$1,500.00	\$3,000.00	
	STAGE II - REINFORCED CONCRETE "B-B" INLET, (5' OPENING), ALL DEPTHS, COMPLETE IN PLACE	EA	2	\$1,200.00	\$2,400.00	\$2,655.50	\$5,311.00	\$3,400.00	\$6,800.00	\$2,400.00	\$4,800.00	
	STAGE I - REINFORCED CONCRETE TYPE "C" INLET, INCLUDES INLET PROTECTION BARRIER FOR STAGE I INLET, ALL DEPTHS, COMPLETE IN PLACE	EA	4	\$2,500.00	\$10,000.00	\$1,251.40	\$5,005.60	\$2,000.00	\$8,000.00	\$1,500.00	\$6,000.00	
	STAGE II - REINFORCED CONCRETE TYPE "C" INLET, ALL DEPTHS, COMPLETE IN PLACE	EA	4	\$1,500.00	\$6,000.00	\$2,444.00	\$9,776.00	\$2,900.00	\$11,600.00	\$2,500.00	\$10,000.00	

FRN F-1386

LJA Engineering, Inc.

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF THE WATER, SANITARY SEWER AND DRAINAGE FACILITIES AND PAVING AND APPURTENANCES TO SERVE NORTH DIAMONDHEAD BOULEVARD PHASE 2 AND NEWPORT POINTE SECTION 6 NEWPORT MUNICIPAL UTILITY DISTRICT CITY OF HOUSTON, HARRIS COUNTY, TEXAS

OCTOBER 21, 2025 LJA ENGINEERING, INC. ERICA PENA OCTOBER 21, 2025

2370-4106 & 2370-4106P (9.2)

			1) CROSTEX CONSTRUCTION INC.		2) FELLERS AND CLARK LP		3) R CONSTRUCTION CIVIL, LLC		4) DACO PAVING, INC.	
NO. ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
11. REINFORCED CONCRETE TYPE "A" INLET, ALL DEPTHS, COMPLETE IN PLACE	EA	3	\$3,600.00	\$10,800.00	\$3,642.50	\$10,927.50	\$2,700.00	\$8,100.00	\$2,100.00	\$6,300.00
12. REMOVE AND OFFSITE DISPOSAL OF EXISTING 8" BRICK PLUG AND CONNECT PROPOSED 24" RCP TO EXISTING 24" RCP, ALL DEPTHS, COMPLETE IN PLACE	EA	3	\$150.00	\$450.00	\$411.25	\$1,233.75	\$650.00	\$1,950.00	\$550.00	\$1,650.00
13. EXCAVATION AND GRADING OF DRAINAGE SWALE, 3:1 MINIMUM SIDE SLOPE - V-BOTTOM, (0'-2' DEPTHS), INCLUDES HAULING OF SPOIL MATERIAL, STRIPPING, STOCKPILING STRIPPINGS, PLACEMENT AND COMPACTION TO 95% STANDARD PROCTOR DENSITY, WITH MAXIMUM 8" LIFTS, AND RE-APPLICATION OF STRIPPINGS, COMPLETE IN PLACE	LF	840	\$4.00	\$3,360.00	\$5.90	\$4,956.00	\$3,00	\$2,520.00	\$5.25	\$4,410.00
14. EXCAVATION AND GRADING OF FUTURE NEWPORT POINTE SECTION 8 BACK-OF-LOT DRAINAGE SWALE, 3:1 MINIMUM SIDE SLOPE - V-BOTTOM, (0'-2' DEPTHS), INCLUDES HAULING OF SPOIL MATERIAL, STRIPPING, STOCKPILING STRIPPINGS, PLACEMENT AND COMPACTION TO 95% STANDARD PROCTOR DENSITY, WITH MAXIMUM 8" LIFTS, AND RE-APPLICATION OF STRIPPINGS, COMPLETE IN PLACE	LF	1634	\$4.00	\$6,536.00	\$5,90	\$9,640.60	\$3.00	\$4,902.00	\$5.25	\$8,578.50
15. VIDEO INSPECTION OF STORM SEWER, ALL SIZES, INCLUDES DIGITAL COPY, COMPLETE IN PLACE	LF	768	\$0.01	\$7.68	\$1.75	\$1,344.00	\$3.00	\$2,304.00	\$2.00	\$1,536.00
16. TRENCH SAFETY SYSTEM FOR STORM SEWER, ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	LF	768	\$0.01	\$7.68	\$0.10	\$76.80	\$1.00	\$768.00	\$0.02	\$15.36
17. DEWATERING FOR STORM SEWER, (AS DIRECTED BY ENGINEER), ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	LF	768	\$10.00	\$7,680.00	\$0.01	\$7.68	\$23.00	\$17,664.00	\$5.00	\$3,840.00
18. ADDITIONAL COST FOR STORM SEWER BEDDING FOR UNSATISFACTORY SOIL CONDITIONS (AS DIRECTED BY ENGINEER), COMPLETE IN PLACE	LF	768	\$0.01	\$7.68	\$0.01	\$7.68	\$10.00	\$7,680.00	\$1.00	\$768.00
SUBTOTAL BASE BID NORTH DIAMONDHEAD BOULEVARD PHASE 2 DRAINAGE FACILI	TIES ITEMS		_	\$138,961.04	-	\$138,109.91	_	\$169,308.00	_	\$155,957.86
BASE BID SWPPP ITEMS 1. STORM WATER POLLUTION PREVENTION PLAN COMPLIANCE, INCLUDES GENERAL SOURCE CONTROLS AND ALL ITEMS NOT SPECIFICALLY LISTED IN THE BID PROPOSAL, COMPLETE IN PLACE	LS	1	\$1,279.44	\$1,279.44	\$2,045.12	\$2,045.12	\$1,200.00	\$1,200.00	\$10,385.08	\$10,385.08
2. INSTALL, MAINTAIN, AND REMOVE STABILIZED CONSTRUCTION EXIT, AND REGRADE AREA TO MATCH FINISHED GRADE, COMPLETE IN PLACE	EA	1	\$1.00	\$1.00	\$1,762.50	\$1,762.50	\$1,500.00	\$1,500.00	\$500.00	\$500.00
3. INSTALL, MAINTAIN, AND REMOVE CONCRETE TRUCK WASHOUT AREA, COMPLETE IN PLACE	EA	1	\$1.00	\$1.00	\$117.50	\$117.50	\$500.00	\$500.00	\$1,000.00	\$1,000.00
4. INLET PROTECTION BARRIER FOR STAGE II INLET, COMPLETE IN PLACE	EA	39	\$0.01	\$0.39	\$11.75	\$458.25	\$25.00	\$975.00	\$52.00	\$2,028.00
INSTALL, MAINTAIN, AND REMOVE FILTER FABRIC FENCE (SILT BARRIER FENCING), COMPLETE IN PLACE	LF	10670	\$0.01	\$106.70	\$1.30	\$13,871.00	\$2.00	\$21,340.00	\$2.00	\$21,340.00
SUBTOTAL BASE BID SWPPP ITEMS			-	\$1,388.53	-	\$18,254.37	_	\$25,515.00	_	\$35,253.08
BASE BID MISCELLANEOUS WS&D ITEMS 1. METHOD "A" CONSTRUCTION STAKING BY THE CONTRACTOR PER GBI SURVEYING, COMPLETE IN PLACE	LS	1	\$10,730.00	\$10,730.00	\$10,730.00	\$10,730.00	\$10,730.00	\$10,730.00	\$10,730.00	\$10,730.00

FRN F-1386

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF THE WATER, SANITARY SEWER AND DRAINAGE FACILITIES AND PAVING AND APPURTENANCES TO SERVE NORTH DIAMONDHEAD BOULEVARD PHASE 2 AND NEWPORT POINTE SECTION 6 NEWPORT MUNICIPAL UTILITY DISTRICT CITY OF HOUSTON, HARRIS COUNTY, TEXAS

OCTOBER 21, 2025 LIA ENGINEERING, INC. ERICA PENA OCTOBER 21, 2025 2370-4106 & 2370-4106P (9.2)

			1) CROSTEX CON	STRUCTION INC.	2) FELLERS AN	ID CLARK LP	3) R CONSTRUC	TION CIVIL, LLC	4) DACO PAN	ING, INC.
NO. ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
2. UTILITY SPOILS, INCLUDES HAULING EXCAVATED MATERIAL ONSITE, INCLUDES STRIPPING, STOCKPILING STRIPPINGS, PLACEMENT AND COMPACTION TO 95% STANDARD PROCTOR DENSITY, WITH MAXIMUM 8" LIFTS, FINAL GRADING, AND RE-APPLICATION OF STRIPPINGS, COMPLETE IN PLACE	СУ	3620	\$4.30	\$15,566.00	\$2.95	\$10,679.00	\$1.00	\$3,620.00	\$6.00	\$21,720.00
EXTRA CEMENT STABILIZED SAND BACKFILL, (AS DIRECTED BY ENGINEER), COMPLETE IN PLACE	CY	100	\$25.00	\$2,500.00	\$20.00	\$2,000.00	\$25.00	\$2,500.00	\$62.00	\$6,200.00
4. 6' WIDE REINFORCED CONCRETE SIDEWALK FOR TRAIL SYSTEM AROUND EXISTING LAKE "D", COMPLETE IN PLACE	SF	13205	\$5.00	\$66,025.00	\$8.95	\$118,184.75	\$7.00	\$92,435.00	\$9.25	\$122,146.25
SUBTOTAL BASE BID MISCELLANEOUS WS&D ITEMS			_	\$94,821.00		\$141,593.75	_	\$109,285.00		\$160,796.25
ALTERNATE NO. 1 - PAVING ITEMS NEWPORT POINTE SECTION 6 PAVING ITEMS 1. 6" REINFORCED CONCRETE PAVEMENT, COMPLETE IN PLACE	SY	5478	\$56.20	\$307,863.60	\$53.35	\$292,251.30	\$48.00	\$262,944.00	\$52.00	\$284,856.00
2. 7" REINFORCED CONCRETE PAVEMENT, COMPLETE IN PLACE	SY	1206	\$62.00	\$74,772.00	\$59.35	\$71,576.10	\$62.00	\$74,772.00	\$58.00	\$69,948.00
3. 6" REINFORCED CONCRETE CURB, COMPLETE IN PLACE	LF	600	\$4.20	\$2,520.00	\$4.95	\$2,970.00	\$4.00	\$2,400.00	\$4.00	\$2,400.00
4. 4" X 12" REINFORCED CONCRETE CURB, COMPLETE IN PLACE	LF	2972	\$4.20	\$12,482.40	\$4.95	\$14,711.40	\$4.00	\$11,888.00	\$4.00	\$11,888.00
5. REMOVE AND OFFSITE DISPOSAL OF EXISTING 6" REINFORCED CONCRETE CURB TO BE REPLACED WITH 4" X 12" REINFORCED CONCRETE CURB FOR EXTREME EVENT OVERFLOW SWALE, COMPLETE IN PLACE	LF	50	\$21,00	\$1,050.00	\$12.30	\$615.00	\$4.00	\$200.00	\$40.00	\$2,000.00
6. 6" LIME STABILIZED SUBGRADE MANIPULATION, COMPLETE IN PLACE	SY	5828	\$3.70	\$21,563.60	\$3.60	\$20,980.80	\$4.25	\$24,769.00	\$4.00	\$23,312.00
7. 8" LIME STABILIZED SUBGRADE MANIPULATION, COMPLETE IN PLACE	SY	1274	\$4.20	\$5,350.80	\$3.85	\$4,904.90	\$6.50	\$8,281.00	\$4.00	\$5,096.00
 LIME FOR 6" STABILIZED SUBGRADE PREPARATION, 7% BY DRY WEIGHT (44 LBS/SY) AS REQUIRED BY SOIL CONDITIONS AND APPROVED BY GEOTECHNICAL ENGINEER, COMPLETE IN PLACE 	TON	128.2	\$410.00	\$52,562.00	\$369.00	\$47,305.80	\$350.00	\$44,870.00	\$345.00	\$44,229.00
 LIME FOR 8" STABILIZED SUBGRADE PREPARATION, 7% BY DRY WEIGHT (44 LBS/SY) AS REQUIRED BY SOIL CONDITIONS AND APPROVED BY GEOTECHNICAL ENGINEER, COMPLETE IN PLACE 	TON	28.1	\$410.00	\$11,521.00	\$369.00	\$10,368.90	\$350.00	\$9,835.00	\$345.00	\$9,694.50
 CONNECT PROPOSED 6" REINFORCED CONCRETE PAVEMENT TO EXISTING REINFORCED CONCRETE PAVEMENT, COMPLETE IN PLACE 	LF	56	\$21.00	\$1,176.00	\$30.25	\$1,694.00	\$43.00	\$2,408.00	\$5.00	\$280.00
11. ADA RAMPS, PER DETAIL IN THE CONSTRUCTION PLANS, COMPLETE IN PLACE	EA	2	\$1,470.00	\$2,940.00	\$1,532.40	\$3,064.80	\$1,800.00	\$3,600.00	\$1,400.00	\$2,800.00
12. 5' WIDE REINFORCED CONCRETE SIDEWALK, COMPLETE IN PLACE	SF	2953	\$8.70	\$25,691.10	\$8.45	\$24,952.85	\$7.00	\$20,671.00	\$8.50	\$25,100.50
13. 5' WIDE REINFORCED CONCRETE SIDEWALK FOR NEWPORT POINTE SECTION 5, COMPLETE IN PLACE	I SF	4677	\$8.70	\$40,689.90	\$8.45	\$39,520.65	\$7.00	\$32,739.00	\$12.50	\$58,462.50
14. REMOVE AND RELOCATE EXISTING TYPE III BARRICADE, COMPLETE IN PLACE	EA	2	\$1,680.00	\$3,360.00	\$1,588.75	\$3,177.50	\$1.00	\$2.00	\$1,350.00	\$2,700.00
15. PERMANENT TRAFFIC CONTROL DEVICES, INCLUDES ALL TRAFFIC BUTTONS, PAVEMENT STRIPING, MARKERS, REFLECTIVE PAINT ON MEDIAN NOSES, STREET SIGNS, TRAFFIC SIGNS, ETC., COMPLETE IN PLACE	LS	1	\$6,300.00	\$6,300.00	\$12,300.00	\$12,300.00	\$6,300.00	\$6,300.00	\$6,048.50	\$6,048.50

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF THE WATER, SANITARY SEWER AND DRAINAGE FACILITIES AND PAVING AND APPURTENANCES TO SERVE NORTH DIAMONDHEAD BOULEVARD PHASE 2 AND NEWPORT POINTE SECTION 6 NEWPORT MUNICIPAL UTILITY DISTRICT CITY OF HOUSTON, HARRIS COUNTY, TEXAS

OCTOBER 21, 2025
LJA ENGINEERING, INC.
ERICA PENA
OCTOBER 21, 2025
2370-4106 & 2370-4106P (9.2)

	ABULATION DATE: IA JOB NO.			TOBER 21, 2025 70-4106 & 2370-410	06P (9.2)						-
				1) CROSTEX COM	ISTRUCTION INC.	2) FELLERS A	ND CLARK LP	3) R CONSTRUCT	TION CIVIL, LLC	4) DACO PAV	ING, INC.
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
	ROADWAY EXCAVATION TO BE USED FOR FILL TO FINAL GRADE WITHIN THE PROJECT LIMITS, INCLUDES STRIPPING, STOCKPILING STRIPPINGS, PLACEMENT AND COMPACTION TO 95% STANDARD PROCTOR DENSITY, WITH MAXIMUM 8" LIFTS, AND RE-APPLICATION OF STRIPPINGS, COMPLETE IN PLACE		2430	\$4.20	\$10,206.00	\$6.40	\$15,552.00	\$4.50	\$10,935.00	\$5.75	\$13,972.50
	FINAL LOT GRADING, INCLUDES STRIPPING, PROOF-ROLLING, HAULING, PLACEMENT AND COMPACTION, REPLACEMENT OF STRIPPINGS, PER GRADING PLAN, COMPLETE IN PLACE	EA	52	\$315.00	\$16,380.00	\$563.75	\$29,315.00	\$210.00	\$10,920.00	\$550.00	\$28,600.00
	FINAL RESERVE GRADING, INCLUDES STRIPPING, PROOF ROLLING, HAULING, PLACEMENT AND COMPACTION, REPLACEMENT OF STRIPPINGS, PER GRADING PLAN, COMPLETE IN PLACE	LS	1	\$2,625.00	\$2,625.00	\$3,075.00	\$3,075.00	\$1,600.00	\$1,600.00	\$1,200.00	\$1,200.00
	HAUL EXCAVATED MATERIAL TO DESIGNATED DISPOSAL SITE, USING OFF ROAD TRUCKS, (0.5 - 1 MILE), INCLUDES STRIPPING, STOCKPILING STRIPPINGS, PLACEMENT AND COMPACTION TO 95% STANDARD PROCTOR DENSITY, WITH MAXIMUM 8" LIFTS, AND RE-APPLICATION OF STRIPPINGS TO FINAL GRADED AREA, COMPLETE IN PLACE	СҮ	1000	\$6.30	\$6,300.00	\$4.60	\$4,600.00	\$8.00	\$8,000.00	\$2.25	\$2,250.00
SUBTOTA	AL ALTERNATE NO. 1 - PAVING ITEMS NEWPORT POINTE SECTION 6 PAVING I	ITEMS		_	\$605,353.40	-	\$602,936.00	_	\$537,134.00		\$594,837.50
	ATE NO. 1 - PAVING ITEMS NORTH DIAMONDHEAD BOULEVARD PAVING ITEM 8" REINFORCED CONCRETE PAVEMENT, COMPLETE IN PLACE	M S SY	6736	\$69.30	\$466,804.80	\$70.25	\$473,204.00	\$72.00	\$484,992.00	\$62.00	\$417,632.00
	6" REINFORCED CONCRETE CURB, COMPLETE IN PLACE 8" LIME STABILIZED SUBGRADE MANIPULATION, COMPLETE IN PLACE	LF SY	3689 7840	\$4.20 \$4.20	\$15,493.80 \$32,928.00	\$4.95 \$3.85	\$18,260.55 \$30,184.00	\$4.00 \$4.25	\$14,756.00 \$33,320.00	\$4.00 \$4.10	\$14,756.00 \$32,144.00
	LIME FOR 8" STABILIZED SUBGRADE PREPARATION, 7% BY DRY WEIGHT (44 LBS/SY) AS REQUIRED BY SOIL CONDITIONS AND APPROVED BY GEOTECHNICAL ENGINEER, COMPLETE IN PLACE	TON	172.5	\$410.00	\$70,725.00	\$369.00	\$63,652.50	\$350.00	\$60,375.00	\$345.00	\$59,512.50
	CONNECT PROPOSED 8" REINFORCED CONCRETE PAVEMENT TO EXISTING REINFORCED CONCRETE PAVEMENT, COMPLETE IN PLACE	LF	81	\$27.00	\$2,187.00	\$30.25	\$2,450.25	\$43.00	\$3,483.00	\$4.00	\$324.00
6.	REINFORCED CONCRETE PAVING HEADER, COMPLETE IN PLACE	LF	152	\$21.00	\$3,192.00	\$27.70	\$4,210.40	\$22.00	\$3,344.00	\$10.00	\$1,520.00
	2" TYPE "D" HMAC PAVING WITH 10" BLACK BASE AND PRIME COAT, COMPLETE IN PLACE	SY	602	\$137.00	\$82,474.00	\$139.40	\$83,918.80	\$145.00	\$87,290.00	\$117.00	\$70,434.00
	REMOVE & DISPOSE EXISTING 12" CRUSHED LIMESTONE ALL-WEATHER ACCESS ROAD, COMPLETE IN PLACE	SY	988	\$10.70	\$10,571.60	\$9.75	\$9,633.00	\$13.00	\$12,844.00	\$16.00	\$15,808.00
	REMOVE & RELOCATE EXISTING 12" CRUSHED LIMESTONE ALL-WEATHER ACCESS ROAD, COMPLETE IN PLACE	SY	100	\$10.70	\$1,070.00	\$40.00	\$4,000.00	\$13.00	\$1,300.00	\$27.00	\$2,700.00

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF THE WATER, SANITARY SEWER AND DRAINAGE FACILITIES AND PAVING AND APPURTENANCES TO SERVE NORTH DIAMONDHEAD BOULEVARD PHASE 2 AND NEWPORT POINTE SECTION 6 NEWPORT MUNICIPAL UTILITY DISTRICT CITY OF HOUSTON, HARRIS COUNTY, TEXAS

OCTOBER 21, 2025 LJA ENGINEERING, INC. ERICA PENA OCTOBER 21, 2025

2370-4106 & 2370-4106P (9.2)

				1) CROSTEX CO	INSTRUCTION INC.	2) FELLERS A	2) FELLERS AND CLARK LP		3) R CONSTRUCTION CIVIL, LLC		4) DACO PAVING, INC.	
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL	
10. ADA RA PLACE	MPS, PER DETAIL IN THE CONSTRUCTION PLANS, COMPLETE IN	EA	8	\$1,470.00	\$11,760.00	\$1,532.40	\$12,259.20	\$1,800.00	\$14,400.00	\$1,400.00	\$11,200.00	
11. 5' WIDE	REINFORCED CONCRETE SIDEWALK, COMPLETE IN PLACE	SF	10792	\$8.70	\$93,890.40	\$8.45	\$91,192.40	\$7.00	\$75,544.00	\$9.50	\$102,524.00	
12. REMOV	E AND RELOCATE EXISTING TYPE III BARRICADE, COMPLETE IN PLACE	EA	1	\$1,680.00	\$1,680.00	\$2,255.00	\$2,255.00	\$1.00	\$1.00	\$1,350.00	\$1,350.00	
13. TYPE III	BARRICADE, COMPLETE IN PLACE	EA	1	\$2,630.00	\$2,630.00	\$2,255.00	\$2,255.00	\$1,600.00	\$1,600.00	\$1,500.00	\$1,500.00	
PAVEM	NENT TRAFFIC CONTROL DEVICES, INCLUDES ALL TRAFFIC BUTTONS, ENT STRIPING, MARKERS, REFLECTIVE PAINT ON MEDIAN NOSES, SIGNS, TRAFFIC SIGNS, ETC., COMPLETE IN PLACE	LS	1	\$15,750.00	\$15,750.00	\$18,306.50	\$18,306.50	\$16,000.00	\$16,000.00	\$15,000.00	\$15,000.00	
PROJEC PLACEN	/AY EXCAVATION TO BE USED FOR FILL TO FINAL GRADE WITHIN THE T LIMITS, INCLUDES STRIPPING, STOCKPILING STRIPPINGS, MENT AND COMPACTION TO 95% STANDARD PROCTOR DENSITY, MAXIMUM 8" LIFTS, AND RE-APPLICATION OF STRIPPINGS, COMPLETE SE	CY	3080	\$4.20	\$12,936.00	\$6.40	\$19,712.00	\$4.75	\$14,630.00	\$5.75	\$17,710.00	
PLACEN	ESERVE GRADING, INCLUDES STRIPPING, PROOF ROLLING, HAULING, MENT AND COMPACTION, REPLACEMENT OF STRIPPINGS, PER IG PLAN, COMPLETE IN PLACE	LS	1	\$10,500.00	\$10,500.00	\$4,817.50	\$4,817.50	\$4,000.00	\$4,000.00	\$1,000.00	\$1,000.00	
ROAD T STRIPPI DENSIT	XCAVATED MATERIAL TO DESIGNATED DISPOSAL SITE, USING OFF RUCKS, (0.5 - 1 MILE), INCLUDES STRIPPING, STOCKPILING NGS, PLACEMENT AND COMPACTION TO 95% STANDARD PROCTOR Y, WITH MAXIMUM 8" LIFTS, AND RE-APPLICATION OF STRIPPINGS AL GRADED AREA, COMPLETE IN PLACE	СУ	1000	\$6.30	\$6,300.00	\$4.60	\$4,600.00	\$8.00	\$8,000.00	\$2.25	\$2,250.00	
	NFORCED CONCRETE PAVEMENT, TO BE USED IN LUEI OF ITEM #1, ETE IN PLACE	SY	6736	\$78.75	\$530,460.00	\$82.25	\$554,036.00	\$91.00	\$612,976.00	\$66.00	\$444,576.00	
SUBTOTAL ALTE	RNATE NO. 1 - PAVING ITEMS NORTH DIAMONDHEAD BOULEVARD PA	AVING ITE	MS		\$1,371,352.60	-	\$1,398,947.10	_	\$1,448,855.00	_	\$1,211,940.50	
1. METHO	1 - PAVING ITEMS MISCELLANEOUS PAVING ITEMS 1D "A" CONSTRUCTION STAKING BY THE CONTRACTOR PER GBI VING, COMPLETE IN PLACE	LS	1	\$7,110.00	\$7,110.00	\$7,110.00	\$7,110.00	\$7,110.00	\$7,110.00	\$7,110.00	\$7,110.00	
AND LO	T SURVEY OF PAVEMENT HIGH POINTS, LOT POINTS, FILL AREAS, OT CORNERS, INCLUDES AN EXHIBIT AND AUTOCAD FILE OF SURVEY, PARTNERS, L.P., COMPLETE IN PLACE	LS	1	\$4,000.00	\$4,000.00	\$4,000.00	\$4,000.00	\$4,000.00	\$4,000.00	\$4,000.00	\$4,000.00	
	CEMENT STABILIZED SAND BACKFILL, (AS DIRECTED BY ENGINEER), ETE IN PLACE	CY	100	\$30.00	\$3,000.00	\$20.50	\$2,050.00	\$25.00	\$2,500.00	\$36.00	\$3,600.00	
90% HC	CAST SEEDING, INCLUDES FERTILIZING AND WATERING, TO ACHIEVE DMOGENEOUS GRASS COVERAGE, (AS DIRECTED BY ENGINEER), ETE IN PLACE	AC	1	\$1.00	\$1.00	\$307.50	\$307.50	\$650.00	\$650.00	\$1,200.00	\$1,200.00	
ACHIEV	MULCH SEEDING AND FINE GRADING, INCLUDES WATERING, TO E 90% HOMOGENEOUS GRASS COVERAGE, (AS DIRECTED BY EER), COMPLETE IN PLACE	AC	1	\$1.00	\$1.00	\$1,025.00	\$1,025.00	\$1,500.00	\$1,500.00	\$2,200.00	\$2,200.00	

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF THE WATER, SANITARY SEWER AND DRAINAGE FACILITIES AND PAVING AND APPURTENANCES TO SERVE NORTH DIAMONDHEAD BOULEVARD PHASE 2 AND NEWPORT POINTE SECTION 6 NEWPORT MUNICIPAL UTILITY DISTRICT CITY OF HOUSTON, HARRIS COUNTY, TEXAS

OCTOBER 21, 2025 LIA ENGINEERING, INC. ERICA PENA OCTOBER 21, 2025 2370-4106 & 2370-4106P (9.2)

TABULATION LJA JOB NO.	DATE:		OCTOBER 21, 2025 2370-4106 & 2370-4106P (9.2)									
				1) CROSTEX CO	NSTRUCTION INC.	2) FELLERS	AND CLARK LP	3) R CONSTRUC	CTION CIVIL, LLC	4) DACO PA	VING, INC.	
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL	
	PVC IRRIGATION SLEEVE, SCHEDULE 40, INCLUDES RISERS, PVC END CAPS, MENT STABILIZED SAND BACKFILL AND MARKERS, COMPLETE IN PLACE	LF	128	\$31.50	\$4,032.00	\$33.85	\$4,332.80	\$24.00	\$3,072.00	\$41.50	\$5,312.00	
7. 8" T	HICK MAILBOX PAD (13' X 8'), COMPLETE IN PLACE	LS	1	\$3,150.00	\$3,150.00	\$1,791.60	\$1,791.60	\$2,500.00	\$2,500.00	\$1,800.00	\$1,800.00	
SUBTOTAL A	LTERNATE NO. 1 - PAVING ITEMS MISCELLANEOUS PAVING ITEMS			-	\$21,294.00		\$20,616.90		\$21,332.00		\$25,222.00	
BID SUMMAI	RY											
BASE BID NEV	WPORT POINTE SECTION 6 WATER SYSTEM ITEMS				\$112,441.26		\$104,820.38		\$155,125.00		\$118,569.04	
BASE BID NEV	WPORT POINTE SECTION 6 SANITARY SEWER ITEMS				\$154,950.95		\$172,618.20		\$200,405.00		\$260,131.75	
BASE BID NEV	WPORT POINTE SECTION 6 DRAINAGE FACILITIES ITEMS				\$268,076.49		\$261,370.26		\$343,771.00		\$295,021.15	
BASE BID NO	RTH DIAMONDHEAD BOULEVARD PHASE 2 WATER SYSTEM ITEMS				\$63,625.22		\$63,226.91		\$67,361.00		\$60,535.22	
BASE BID NO	RTH DIAMONDHEAD BOULEVARD PHASE 2 SANITARY SEWER ITEMS				\$43,735.51		\$47,506.22		\$58,131.00		\$70,735.65	
BASE BID NO	RTH DIAMONDHEAD BOULEVARD PHASE 2 DRAINAGE FACILITIES ITEMS				\$138,961.04		\$138,109.91		\$169,308.00		\$155,957.86	
BASE BID SW	PPP ITEMS				\$1,388.53		\$18,254.37		\$25,515.00		\$35,253.08	
BASE BID MIS	SCELLANEOUS WS&D ITEMS				\$94,821.00		\$141,593.75		\$109,285.00		\$160,796.25	
TOTAL AMOU	UNT BASE BID				\$878,000.00		\$947,500.00		\$1,128,901.00		\$1,157,000.00	
ALTERNATE I	NO. 1 - PAVING ITEMS											
TOTAL AMOL	JNT BASE BID				\$878,000.00		\$947,500.00		\$1,128,901.00		\$1,157,000.00	
NEWPORT PO	DINTE SECTION 6 PAVING ITEMS				\$605,353.40		\$602,936.00		\$537,134.00		\$594,837.50	
NORTH DIAM	IONDHEAD BOULEVARD PAVING ITEMS				\$1,371,352.60		\$1,398,947.10		\$1,448,855.00		\$1,211,940.50	
MISCELLANE	OUS PAVING ITEMS				\$21,294.00		\$20,616.90		\$21,332.00		\$25,222.00	
TOTAL ALTER	RNATE NO. 1 - PAVING ITEMS PLUS BASE BID				\$2,876,000.00		\$2,970,000.00		\$3,136,222.00		\$2,989,000.00	